## **BURDEN HOURS FOR ACF FEDERAL ASSISTANCE PROGRAMS**

Number	CFDA (93.XXX)	Program Title	Average Number of Responses	Hours Per	Average Total Burden
Number	(93.777)	Sexual Risk Avoidance	кезропзез	Response	Burden
1.	060	Education	130	60	7,800
1.	000	Healthy Marriage	130	00	1,000
		Promotion and			
		Responsible Fatherhood			
2.	086	Grants	20	60	1,200
	000	Enhance Safety of			
		Children Affected by			
3.	087	Substance Abuse	38	60	2,280
		Affordable Care Act			
		(ACA) Personal			
		Responsibility			
4.	092	Education Program	82	60	4,920
		Affordable Care Act			
		(ACA) Health			
		Profession Opportunity			
5.	093	Grants	10	60	600
		Infant Adoption			
6.	254	Awareness Training	2	60	120
		Demonstration Grants			
		for Domestic Victims			
7.	327	of Human Trafficking	30	60	1,800
		Native American			
		Community Research,			
	0.40	Demonstration, and	4.0	00	
8.	340	Pilot Projects	10	60	600

	CFDA		Average Number of	Hours Per	Average Total
Number	(93.XXX)	Program Title	Responses	Response	Burden
		Head Start Disaster	•	•	
		Recovery from			
		Hurricanes Harvey,			
9.	356	Irma, and Maria	300	60	18,000
		Every Student Succeeds			
		Act/Preschool			
10.	434	Development Grants	45	60	2,700
		TANF Policy Academy			
		for Innovative			
		Employment Strategies			
11.	475	(PAIES)	70	60	4,200
		Transitional Living			
12.	550	for Homeless Youth	200	60	12,000
13.	551	Abandoned Infants	67	60	4,020
		Promoting Safe and			
14.	556	Stable Families	10	60	600
		Education and			
		Prevention Grants to			
		Reduce Sexual Abuse of			
4.5	FF7	Runaway, Homeless and	200	00	12 000
15.	557	Street Youth	200	60	12,000
		Child Cupport			
16.	564	Child Support Enforcement Research	30	60	1 900
10.	304		ას	00	1,800
		Refugee and Entrant Assistance Voluntary			
17.	567	Agency Programs	12	60	720
1 .	301	Ayency Frograms	14	00	120

	_		Average		Average
_	CFDA		Number of	Hours Per	Total
Number	(93.XXX)	Program Title	Responses	Response	Burden
		Community Services			
		Block Grant			
_		(Discretionary)			
18.	569	(Component)	20	60	1,200
		Community Services			
		Block Grant			
19.	570	Discretionary Awards	265	60	15,900
		Child Care and			
		Development Block			
20	F 7 F	Grant	0.7	60	1 600
20.	575	(Discretionary)	27	60	1,620
		Refugee & Entrant			
21	F76	Assistance	160	60	10 000
21.	576	Discretionary Grants	168	60	10,080
22.	579	U.S. Repatriation	1	60	60
		Improving the			
		Capability of Indian			
		Tribal Governments to			
		Regulate Environmental			
23.	581	Quality	17	60	1,020
		Refugee and Entrant			
		Assistance			
24.	583	Wilson/Fish Program	13	60	780
_		State Court			
25.	586	Improvement Program	20	60	1,200
		Promote the Survival			
		and Continuing			
		Vitality of Native	20		
26.	587	American Languages	99	60	5,940

			Average		Average
	CFDA		Number of	Hours Per	Total
Number	(93.XXX)	Program Title	Responses	Response	Burden
		Community-Based Child			
		Abuse Prevention			
27.	590	Grants	25	60	1,500
		Family Violence			
	500	Prevention &	470	0.0	10.000
28.	592	Services/Discretionary	170	60	10,200
		Welfare Reform			
	F0F	Research, Evaluations	-	0.0	000
29.	595	and National Studies	5	60	300
		Child Care Mandatory			
		and Matching Funds of			
20	E06	the Child Care and	2	60	120
30.	596	Development Fund Services to Victims of	2	00	120
		a Severe Form of			
31.	598	Trafficking	41	60	2,460
32.	600	Head Start	909	60	54,540
32.	000	Child Support	909	00	34,340
		Enforcement			
		Demonstrations and			
33.	601	Special Projects	9	60	540
001		Assets for	<b>U</b>		040
		Independence			
34.	602	Demonstration Program	98	60	5,880
		Assistance for Victims			7,000
35.	604	of Torture	69	60	4,140
		Family Connection			<u> </u>
36.	605	Grants	45	60	2,700
		Native American			
37.	612	Programs	270	60	16,200

	CFDA		Average Number of	Hours Per	Average Total
Number	(93.XXX)	Program Title	Responses	Response	Burden
38.	623	Basic Center Grant	197	60	11,820
30.	020	Social Services	107	00	11,020
		Research and			
39.	647	Demonstration	17	60	1,020
		Child Welfare Research			
		Training or			
40.	648	Demonstration	35	60	2,100
41.	652	Adoption Opportunities	18	60	1,080
71.	032	Foster Care Title IV-E	10	00	1,000
		(Discretionary Grants)			
42.	658		12	60	720
		Child Abuse and			
		Neglect Discretionary	31		
43.	670	Activities		60	1,860
	070	Unaccompanied Alien	20	00	0.700
44.	676	Children Program	63	60	3,780
		Title V Sexual Risk Avoidance Education			
		Program			
45.	787	(Discretionary Grants)	200	60	12,000
101	101	Tribal Maternal,			12,000
		Infant, and Early			
		Childhood Home			
46.	872	Visiting Program	68	60	4,080
Totals					
100010			4,170		250,200